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1. To attach a copy of a document to an e-mailgoto ___ .
A) File tab — Save & Send
B) File tab — e-mail
C) File tab — Options
D) File tab — Info

2. Which of the following statements is INCORRECT?
A) You can show the revisions of track changes in a separate window.
B) You cannot change tracking options.
C) You can accept all the changes at once in the document.
D) All of these

3. Inspect Document feature will ___ .
A) Check the document for hidden properties
B) Check the features not supported by earlies versions of MS-Word
C) Check the document for content that people with disabilities might find difficult
to read
D) Check the document for any password protection method

4. Which of the following statements is CORRECT?
A) You cannot add a comment, if you have not selected any word.
B) You cannot track the formatting changes.
C) You cannot combine the revisions from multiple documents.
D) You can edit a document, once you have marked it as final, by clicking "Edit
Anyway"” command, displayed at the top of the window.

5. Before e-mailing a document, you should compress the images in order to __.
A) Improve the image quality
B) Increase the file size
C) Reduce the contrast
D) Reduce the file size

6. After editing documents without using Track Changes, you can continue to use
Reviewing pane feature by __ .
A) Changing the Style Set
B) Comparing documents
C) Double-clicking Track Changes
D) Adding a header
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. Which of the following options will open Bookmark window?

A) Insert tab — Links group— Bookmark

B) Review tab —Links group -Bookmark

C) Insert tab — lllustrations group — Bookmark
D) Review tab — Create group —Bookmark

Which of the following options let you search through reference materials such as
dictionaries and encyclopedia services?

A) Spelling & Grammar

B) Research

C) Show Markup

D) Word Count

While using tables, how would you forbid table rows to be split across pages in an
MS-Word document when you have already selected the current table?

A) Right Click, then click Table Properties. Click on Table tab and uncheck "Allow
row to break across pages”

B) Right Click, then click Table Properties. Click on Table tab, click Options and
uncheck "Allow row to break across pages”

C) Right Click, then click Table Properties. Click on Row tab and uncheck "Allow row
to break across pages”

D) Right Click, then click Split Cells

The look and feel of a particular paragraph of text in a document can be controlled
with ___ .

A) Tables

B) Styles

C) Manage version

D) Paragraphs

Recent Pane of File tab will allow you to
A) Protect your document with password
B) Recover unsaved documents

C) See the previous versions of the file
D) Save the current document

In HTML, the text that links the other document is called
A) Mark up

B) Hyper text

C) Cell

D) Bitmap
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What kind of software do you require to write an HTML program?

A) Word processor

B) Text editor

C) Spread sheet

D) Presentation program

Which software can you use for executing an HTML program written in Text editor?
A) Word processor

B) Text editor

C) Database programs

D) Web browser

Which of these is a web-browser program?
A) Internet explorer

B) Netscape Navigator

C) Google chrome

D) All of these

Who designed HTML document?
A) Wright brothers

B) Tim Berners Lee

C) Charles Babbage

D) Lady Ada love lace

HTML is the subset of _.
A) SGML

B) XML

C) Java script

D) X HTML

Commands in HTML are called _.
A) primitives

B) script

C) tags

D) instructions

. Which of these tags indicates the beginning of HTML program?
A) <HTML>
B) <Title>
C) </HTML>
D) <Head>
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What extension should you type while saving an HTML document?
A) .PPT

B) .html

C) .ht

D) .com

What is the full form of HTML?

A) Hyper Text Mail Language

B) Hyper Text Markup Language

C) Highlight Text Markup Language
D) Highlight Text Makeup Language

The content of the web page should be coded within
A) <Head> .... </Head>
B) <Title> ...... </Title>
C) <Body> ..... </Body>
D) <HTML>...</HTML>

Which of these attributes will you use with <font> tag to change the colour of the
font?

A) <font color = XXX>

B) <font Align = XXX>

C) <font size = XXX>

D) <font face = XXX>

Which attribute of font tag changes the size of the font?
A) <font color = XXX>

B) <font Align = XXX>

C) <font size = XXX>

D) <font face = XXX>

Which attribute of font tag will change the alignment of the text?
A) <font color = XXX>

B) <font Align = XXX>

C) <font size = XXX>

D) <font face = XXX>

Which of these tags underlines the text of HTML document?
A) <B> ..... </B>

B) <U> ...... </U>

C) <I> ....... </I>

D) <UL>.....</UL>
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Which of the following protocols use client server architecture?
A) FTP

B) HTTP

C) SMTP

D) All of these

__is a 32 bit binary number. It is used to uniquely identify computers and other
resources on a TCP/IP network.

A) IP Address

B) MAC Address

C) Protocol

D) URL

WPA is a wireless security option. WPA stands for _ .
A) Wi-Fi Protection Area

B) Wi-Fi Protected Address

C) Wi-Fi Protected Access

D) Wi-Fi Protected Area

__is the most popular LAN protocol.
A) DSML

E) Ethernet

F) ISP

G) OslI

Which of the following is not a basic networking component?
A) Network interface card

B) Device Driver

C) Networking cable

D) Hubs and Switches

WEP stands for .

A) Wired Equivalent Privacy

B) Wi-Fi Equivalent Protection
C) Wired Equipment Protection
D) Wired Equivalent Protection

A network spanning a physical area such as acityis calleda __.
A) LAN
B) PAN
C) WAN
D) MAN
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Which of the following devices connects a LAN to a WAN?
A) NIC

B) Bluetooth

C) Hotspot

D) Router

Which of the following is NOT a type of computer network - categorized by its scope
or scale?

A) LAN

B) WAN

C) KAN

D) MAN

Which of the following networking topology integrates the star and bus topologies in
a hybrid approach to improve network scalability?

A) Ring

B) Mesh

C) Tree

D) Backbone

Which of the following is necessary to connect just two computers?
A) Category 5 cable

B) Network interface card

C) Wireless internet

D) None of these

When a computer network is built on the top of another network such as peer-to-peer
networks and client-server applications, it is called ____ .

A) Bottom-top network

B) Overlay network

C) Rooted network

D) One-to-One network

Which of the following is NOT a type of wireless security protocol?
A) Media Access Control

B)Robust Secure Network

C)Wired Equivalent Privacy

D) Wi-Fi Protected Access

An Ethernet network is also known as a _ network.

A) Wired
B) Connector



C) Extension
D) Both [A] and [B]

42. Identify the following.

a. Itis responsible for full-fledged data connectivity and transmitting the data end-to-
end by providing other functions, including addressing, mapping and
acknowledgement.

b. Itis a language, a computer uses to access the internet.

A) TCP/IP
B) SMTP
C) FTP
D) NNTP

43. Which of the following statements is/are CORRECT about FTP?
It uses the internet’'s TCP/IP protocols to enable data transfer.
It promotes sharing of files via remote computers with reliable and efficient data
transfer.
It uses client server architecture.
A) (1) only
B) (2) only
C) (3) only
D) (1), (2) and (3)

44. Which of the following statements hold(s) true regarding the similarity between FTP
and HTTP?
Statement 1: FTP works in the same way as HTTP for transferring web pages from a
server to a user's browser.
Statement 2: Both FTP and HTTP uses client server architecture.
A) Only Statement 1
B) Only Statement 2
C) Both Statement 1 and Statement 2
D) Neither Statement 1 nor Statement 2

45. Why are wireless networks flexible?
A) You cannot connect any number of computers to one router.
B) You do not need hardware to set up a wireless network.
C) You do not need an internet connection to connect to the internet.
D) You don't need wires to connect your computer to the router.



